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PHYSICAL EDUCATION
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Both positive & negative transfers are largely the result of
(1) Similarity responses in the first and the second task.
(2) Dissimilarity of responses in the first and the second task.
(3) Co-ordination of responses in the first and second task.
(4) Both similarity and dissimilarity of responses in the first and second task.

2. Which of the following is against the principles of organization ?
(1) Delegation of Power (2) Proper Communication

(3) Proper decentralization (4) Overlaping of authority

3. Ratio of the volume of CO, expired to the volume of O, consumed in a given time is

called
(1) Inspiratory quotient (2) Respiratory quotient
(3) Vital capacity (4) Total lung capacity

4.  The average velocity V is equal to

d Vi-Vi
(1) -t @) L-Y
® o @ =

5. Which of the following is not a stage of Achievement motivation ?
(1) Autonomous competence stage  (2) Social comparison stage
(3) Integrated stage (4) Distinguish stage

6. A physically educated person
(1) Is good in competitive sport
(2) Demonstrates competency in many movement forms and proficiency in few
movement forms.
(3) Has excellent physical fitness
(4) Posses superior physical skills, leadership qualities and ethical values.

7. Which of the following cannot provide any energy ?
(1) Carbohydrate (2) Fat
(3) Vitamin (4) Protein
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1.  THRHAS 3R THRICHH LFRT I g fhgeh aikoms & 2
(1) Uee, 3R THL B T AfdTHAT bl AT
(2) BT 3R TEL HEF H UATCHAT Dl ST
(3) Ueet 3T THY S H UfAThaT S T
(4) BT 3R THYL B H UATHAT Bl FHHAT 3R STEHEAT T |

2. Tfcfed 7 9 o1 9T & [Haid & [ © ?
(1) IRl 1 TS (2) 3 daE
(3) 3o forehsiienvoT (4) iR & et

3. Tl ol T W W & g CO,, % 3T 3R @ gT O, % 3 H A FHaetill &
(1) STAIROTERT e (SN )
(2) g Al (FRae F&R)
(3) Tl &
(4)  FoT FHFEH &

4.  3Ad 9 V fohdsh e & 2

d Vi-V,
(1) t,-t @) L-Y
I
® o @
5. {lciiEd | ¥ A G SUeiied SROT s =0T Fal & ?
(1) orE &A= (2) IS o TROT
(3) THIF T (4) fafme =wor

6. U IRINS &7 I ffer =aferm
(1) ufaeel Soigs § =T e ¢ |
(2) oFF TICH UHRI § TBTAT 3K D o TR H 0T 90T & |
(3) VNI TRTHAT H g TS Bl & |
(4) SR WNINGs YT, S T 3 A Jod 8T € |

7. Trefafea 6 9 @i f5d TR ol ST SueTed Tl ol Gehdl & ?

(1) werEESE (2) =@
3) foerfmm (4) weH
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10.

11.

12.

13.

14.

15.

Which of the following means of judgement of load can be employed independently by
the coach without taking help from the sports scientists ?

(1) Blood urea concentration (2) Oxygen consumption

(3) Lactic Acid concentration (4) Heartrate

Power of test is
(1) Type lerror (2) Level of significance
(3) Type Il error (4) Measure of relative position

Rational equivalence is a method of determining

(1) Reliability (2) \Validity

(3) Objectivity 4 Q) &(@O)

The primary focus of Supervision must always be the

(1) Maintenance of records (2) Competition programme
(3) Learning situation (4) Equipment management

Fundamental motor skills are categorized into

(@ Locomotor skills (b) Ballistic skills

(c) Non-locomotor skills (d) Manipulative skills
Codes :

(1) (b), (c), (d) (2 (a), (0), (c)

@) (@), (c), (d) 4)  (a), (b), (d)

The contractile element of muscle fibers, the myofibrils, contain protein filaments of :
(@ Albumin (b) Prothrombin

(c) Myosin (d) Troponin

(e) Globulin (f) Actin

Codes :

(1) (@), (c), (e) (2 (c), (d). ()

@) (b), (d), () 4)  (a), (b), (e)

Identify therapeutic exercises from the list given below :

(@ Trampoline exercises (b) Active assistive exercises
(c) Suspended exercises (d) Passive exercises

(e) Plyometric exercises

Codes :

(1) (). (e) (2) (c), (d)

@) (b), (d) 4) (b), (e)

Find the correct combination of characteristics in understanding your personality as per
Martens.

(@) Psychological core (b) Typical responses

(c) Interpersonal approach (d) Role-related behaviour
Codes :

(1) (@), (b). (c) (2 (b), (c). (d)

@) (a), (b), (d) (4) (@) (c), (d)
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8. TyAfciRad § & YR &1 Ul oM & S T T hid FRT TADs AN ht FerdT forw femr e
T I AR fBAT ST el € 2
(1) =TS IRAT TehgoT (2) ifeRiSH @ud
(3) TR TEE THRI (4) =TI
9. IO K iR &
(1) wERIFe (2) TIHAT TR
(3) wERIIFC (4) et fetd @ eTE
10.  RFCT Sioeerd foheeh T ot gl & 2
(1) o= (2) e
(3) =g @) (1) 3R @)
11, FdveTor =6 weitHes Srsfeg SHST 8T T ;
(1) fehrei < stz (2) et e
(3) e ferfer (4) SO HEE
12.  HifeT et SHISTeT i i fohaT ST &
(2)  AEHIHI et (b) dfeifees B
(C) A-TIhITIRT I (d) TFgeitea e
-
(1) (b), (c), (d) 2 (a), (d), (c)
3 (@), (c), (d) 4) (a),(b), (d)
13. ORI A % Gpoeiet awd HiETEised | fohgeh mer a= (fheime) ffed i € 2
(@) e (b) e
(c) wmEra (d) gt
(e) Teligier () uhrA
O
(1) (@), (). (e) (2)  (c), (d), ()
3 (b), (d), () 4) (a), (d), (e)
14. = S T g § Tafhedia STl S eE
(a) ZHife =M (b) Hfra HErEw AW
(c) veitaa = (d) FisRg =mm
(e) TAIMIZE R
%
1) (). (e) (2) (c), (d)
3 (), (d) 4) () ()
15. WA % 3R 310 Afewricd Sl T | [Tearsti & el T 31 9dqT o |
(a) TAOIS B (b) Tafere smfsran
(c) SFIoafeRTh SUMH (d) ofe Hatad FaRr
- T
1) (@), (b), (c) 2) (), (c), (d)
3 (a), (), (d) 4) (a),(c), (d)
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16. Development and maintenance of appropriate student behaviour in physical education

classes is influenced by

(@ Interaction between teacher and students
(b) Interaction among students

(c) Interaction with physical environment
(d) Administrative control

Codes :
1) (@), (b). (c) 2 (a),(b). (d)
@) (a),(c), (d) (4)  (b), (c). (d)
17. Extraneous variables are
l. Uncontrolled variables Il.  Manipulated variables
I1l. Non manipulated variables IV. Distracting variables
Codes :
@O L&V 2 LINN&IV
3) N&IV 4) 1&I1

18. Find the correct combination of principles of occupational health using the codes given

below :

(@) Health counselling

(b) General maintenance

(c) Concentration of gases beyond permissible limit
(d) Protective devices

Codes :
1) (@), (b), (d) (2) (b), (c). (d)
@) (@), (d),(c) 4) (b), (@), (c)
19. Find the correct combination of the terms related to the game of Kabaddi, using the codes
given below :
(@ Pursuit (b)  Push kick
(c) Hitch kick (d) The cant
(e) Mule kick
Codes :
1) (0),(c), (d) (2 (c). (d), ()
@) (d).(a). () 4) (@), (), (¢
20. The three principles of experimental design enumerated by Prof. Fisher are
(@) Principle of exclusion (b)  Principle of randomisation
(c) Principle of local control (d) Principle of replication
(e) Principle of deduction
Codes :
(1) (@), (b) & (d) (2 (a), (b) & (c)
@) (@) (c) &(e) 4) (b), (c) &(d)
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16. IR frem semmsti o Sfad S =IaeR & faehrd ¥ SFRI0T [heh §RT WHifed &idm & 2
(@) TRTeTeh 3R BT & g URERE o6 |
(b) ST % T TR SFT |
(c) iideh ATaTeRoT % WY URER fohaT |

(d) v =
ET
1) (@), (b), (c) (2) (a), (b), (d)
3 (@), (), (d) 4) (), (c), (d)
17. SR =E:
. erfEba =X Il. SR (WHYees) o)
. TR HEQT (9 BHgeRes) o V. o (fexdfdem) =)
[ A
1) 1SRV () 1, 13RIV
() 13RIV (4) 13RI

18. I 53 T e ol WerdT | ARG T o (G TASH 6l 997 it :
(a) YT Heet TSt
(b)  QETT SROT qrOT
(C) 3= T § feeh T 1 Tehgor

(d) JwIES I

T

1) (@), (b), (d) @ (). (), (d)
3) (@) () 4 (0. (@), ()

19. I 53 T < o T | FHEE o Tol Yot et GASH D TdH Hire
(a) UST AT (T (b) =heT T (T Tohep)

(c) feafws (d) == () ¥ IFh
ET
(1) (b), (c), (d) (2) (c), (d), (e)
(3) (d), (@), (e) 4) (), (d), (c)
20. . ¥R g0 S/ T TERTIee TesTee & o fasT ¢ -
(a) 3TUESH & g (b) =CTEHIHOT F T
(c) T =T 5 fagT (d) Wi s
(e) = = fagT
Codes :
(1) (@), (b) &(d) 2 (a), (b) 3R (c)
3 (3, () #R(e) 4 (b), (c) ¥R (d)
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21.

22.

23.

24,

Intramural programme creates in students sense of

(@) Mass participation (b) Selfishness

(c) Enimity (d) Maximum Involvement
Find the correct code.

Codes :

(1) () &(b) 2) (b)&(d)

(3) (c) & (d) (4) (a) &(d)

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : The Greek ideal stressed the unity of mind, body and spirit. Reflecting
this principle Greek education encompassed both intellectual and physical
education.

Reason (R) : The role of participation in physical activity was being fit and having
athletic prowess for military success.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Socialization is a fundamental social process that affects everyone as it is
a means by which values, belief and behaviour is acquired.

Reason (R) : Sport can be viewed as a social institution and examined in relation to its
impact on other social institutions such as educational system.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Oxygen uptake capacity at rest, during exercise and during recovery
determines to a large extent an athletes performance potentiality.

Reason (R) : There exists a linear relationship between heart rate and oxygen uptake
capacity during exercise.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Paper-I111 8 J-47-16



21.

22.

23.

24,

TR SR BT § 3 ST U981 ST € |

(3) S WIERT (b)  @rETEr

(c) fasw (d)  3tiaehaw TefiTaT
TE Fe T B |

*T !

(1) (a) 3R (b) @) (b) &R (d)

3) () 3R (d) 4) (a) 3R (d)

T 31 St fRu T & TS @ U B S (A) TR S (R) el T E |

AT (A) ;Ui 3TRY AR, IRR 3T 37T o Tehell W oA 3T & | 39 Fogicl o wiafafiad
H H Tieh ToreT & Shifegeh 3T Rifes f¥met g1 enfeet € |

% (R) : NN HEFAT T 9HTERT bl e A TohetdT % [T RN &9 F g9 &1 Tol-
T THH U LT 4T |

SUeR 31 AT % e § et o § o el § 2

(1) (A) 3R (R) I T € 3 (R), (A) F Fel T & |

(2) (A) 3R (R) 3T T €, Wb (R), (A) T Tl LT el |

(3) (A)T & IR (R) T T |

(4) (A) 7oA E AR (R) W T |

T 71 e fRu T E TS § e S (A) 3R 38K W ah (R) FRT T

ANHIT (A) : FHSIHT Th HifeTeh QIS FihaT & ST Weleh bl T el & s I8 U
e & STk 3R go, IR0 31T e Wi fohal ST & |

A% (R) : GA-F5 I T FIISTH G & T H @I ST Tehal ¢ ST SHHT TRIR0T WfeTeh Jotedt S
3T WHTTSTe ST W 39k W9 o Gaie W 39ehT TRIeT0T o ST Tehall & |

ST 3 el & Gy | Frefotfed o 9 o 9@l & 2

(1) (A) iR (R) I el & 3R (R), (A) 1 Tl TEIHT & |

(2) (A) 3R (R) 3 Tl & Al (R), (A) T el WL el & |

(3) (A) T ¢ 3R (R) Tt & |

(4) (A) T ¢ 3R (R) W& € |

e 57 31T 5T T & S O Uk B 21 (A) 3R 38R P (R) FRT T

AVHAT (A) : W TN W A F SRS F IRV I 8 T Faetrel & Tt 6 He
o ot Trae B SR FRar E |

A% (R) : AW & IRH 53T TS i T TS SRS ISRV &7l o ad &g Ty & |

SUeR 31 AT % e § e o J o el & 2

(1) (A) 3R (R) I T € 31X (R), (A) T T& WL |

(2) (A) 3R (R) 3T T E, AB (R), (A) T Tl LT el § |

(3) (A)T & IR (R) T T |

(4) (A) 7oA E AR (R) W T |
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25.

26.

27.

28.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Since athletes are most healthy and fit persons, use of drugs by them
should have been limited-unfortunately this is not true.

Reason (R) : Some drugs if used by common man, it is therapy but when athletes use
such drugs, it is doping.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : The integrative pattern of posture is predominantly automatic and
unconscious, resulting from the incessant shifting of weight.

Reason (R) : Postural control involves static and phasic reflexes and are integrated in the
central nervous system.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Therapeutic manipulation are gaining acceptance in the society.
Manipulation generally is directed at restoration of normal motion and elimination
of pain secondary to disturbed biomechanics.

Reason (R) : Manipulative exercises are always risky and have many side effects which
may lead to many internal complications.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : To develop a realistic view of motivation, recognize non-motivational
influences on sport performance and behaviour and learn to assess whether
motivational factors may be readily changed.

Reason (R) : The goal is for the individual to reach an autonomous, integrated stage to
understand the impact of achievement motivation.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.
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25.

26.

27.

28.

T 31 St fRu T & T § e i 21 (A) 3R 38 W aeh (R) FRT T

AU (A) : Hioh TaeTTel Faits @ 3K 36e AR & €, S o1 TTgehi ol JanT T
AT BT 39 W, I8 T el € |

% (R) : 3 A A Fo WU 1 T X &, A T8 ST aihedl gl &, W e fagetres
T T 1 ST R &, Al I8 ST FEella ¢ |

ST 3 el % Gy | Frefotfed & 3 o1 9@l & 2

(1) (A) 3R (R) I T&t € ¥ (R), (A) T TEl TR |

(2) (A) 3R (R) 3T T E, AB (R), (A) T TET LT e ¢ |

(3) (A) W ¢ 3R (R) Tt & |

(4) (A Te ¢ IR (R) T& € |

e 37 31T 5T T & S 9 Uk 1 21 (A) 3R 38R B % (R) FRT T E |

AfUEA (A) TR IR 3eH & Foreey SR Sl GHheTcHS Y Had: ffaafted 3T
AT BT E |

T (R) : Siefasr= Fesor § Sifqe i B wided et gid & 3 3 e dies yomelt o
TR B € |

SR & e e Freertian ¥ @ o ad ¥

(1) (A) iR (R) I el & 3R (R), (A) 1 Tl WL & |

(2) (A) 3R (R) I Tt €, A (R), (A) 1 T TIishol T8 € |

(3) (A)T & IR (R) T T |

(4) (A)TedE AR (R) T T |

e 71 St 3T Tw & T @ Uk A S (A) 3R 38 R a% (R) FETTE |

AfHFHU (A) : TN H Fafhedig S&IehieTer i TR et W & | A xdehieret qr fd §
AT A TAT ST ST FiAeh! o 0T I Bl FHT e Dl S9N H HT B ¢ |

T (R) : DIV HaHl SAEM gHYT SEHUl B & 3R 9 % guvie B € R 3
3ANE STTeetard UaT & |ehel & |

U 31 ARt 3 de § Fefetiad § F o el € 2

(1) (A) 3R (R) I T € 3 (R), (A) F Fel T & |

(2) (A) 3R (R) AT T E B (R), (A) T TET T & ¢ |

(3) (A) T & 3R (R) T ¢ |

(4) (A) T € R (R) W& |

T 31 et 3T TE & T @ Uk i S (A) 3R 33 R a (R) FETTE |

A (A) : IROT S Teh IdTeh [TaR foead e o ol et TR 31R 968N T TRIR
T St e AT X TE SHe BT HGAT & 1o 1 IRk o< T ST § agel ST
THATE |

% (R) : AT & 0T o I &im & foh 9 SUctisd IRUM o T1d o1 GHegH o o0 U e,
Tehid T W TEd |

ST 31 AT % e § FEfetiad o & o el € 2

(1) (A) 3R (R) IH T&t € 31X (R), (A) 1 Fel TEIHRT ¢ |

(2) (A) 3R (R) I Tt €, A (R), (A) 1 Tl Wil T8 € |

(3) (A)T & 3R (R) T T |

(4) (A)TedE R (R) W T |
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29.

30.

31.

32.

Given below are two statements, one labelled as Assertion (A) and the other labeled as
Reason (R) :

Assertion (A) : One of the most effective method of helping people to control their stress
and anxiety is to psyche them up with heavy dose of psychological stimulation.
Reason (R) :Arousal related emotions, such as cognitive and somatic state anxiety are

related to performance. An optimal recipe of emotions is related to peak
performance.
In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.
(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : More and more people are becoming engaged in variety of physical activities
in health and fitness clubs as well as in community and commercial fitness programme.

Reason (R) : There is a need for competent physical education, exercise science and sport
professionals to design, lead and evaluate physical activity programme.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as
Reason (R) :

Assertion (A) : Motor development for children occurs from the age of five years.

Reason (R) : Girls leg strength is higher than of boys upto the age of eleven years.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Obesity is a global problem caused due to the sedentary life style.

Reason (R) : Children prefer the food that is very high is calories that remain surplus
owing to very little or no physical activity.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.
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29.

30.

31.

32.

e 37 31T 5T T & S 9 U S 21ee (A) 3R g8 B (R) FeT T |

AfFET (A) : T B ST T SR 3RET B H Gl R S T WEewRy fofe
I T SORUT Sl TE! GRIH SH ST HAI HEAT § |

A% (R) :3ORT T el AT S I 31T Sfech 3 UG O Faled eid & | Siarst
Tezam G G 3Ty URYH § Hafd gl € |

SYIERT 3 ST o Ty | e | 9 o1 Tet € ?

(1) (A) 3R (R) IF &l & 3R (R), (A) F1 Tl TR & |

(2) (A) 3R (R) 3 &l &, A (R), (A) T &l TR0 T8l € |

(3) (A)TEHETAR(R) T E |

(4) (A) T € IR (R) W& |

T 57 31T 5T U & RS 9 Uk S 21iehe (A) 3R 38R T e (R) T T

afirpe (A) : 31w d s Sl god 3R Tther i Fofal o To-a1e WHRIges 3] A
IR TeTeT Hrshat § i TehR o IIRIRe ket § wiHer 2id ST R & |

A% (R) : NN HEAFAT HRHHT Sl TIR i, ST g 3T JoaichT e o o7 FeTd NN
Torer, = fom 31X WeA-35 URIeRT i STeRd € |

ST 3 el % Gy | ot & 9 o 9@l & 2

(1) (A) 3R (R) I T € 3 (R), (A) F Fel T & |

(2) (A) 3R (R) =1 el & wifer (R), (A) ol Tel Tl T8l € |

(3) (A) T & 3R (R) T ¢ |

(4) (A) T ¢ 3R (R) T& € |

T 77 St fRT T & T @ U B S (A) 3R 38 A % (R) FRT TR
At (A) : Tt § G faehg Ui 9 i 31 Y ET € |

T (R) : ™RE a9 i 31 b eAgiehal o IR i Ik oeehl | 1T &l & |

U o1 ARl 3 e § Ffetiaa § § o el € 2

(1) (A) 3R (R) I T € 3R (R), (A) F Tel T & |

(2) (A) 3R (R) 3T T E, AB (R), (A) T Tl LT e ¢ |

(3) (A) T ¢ 3R (R) Tt & |

(4) (A Te ¢ IR (R) T& € |

e 37 St fRu U & T @ U B S (A) 3R 38 i a% (R) FET TR

At (A) ; MR Sfae Sieft 3 BROT AierT foveemd Jeer o= T € |

A% (R) : =3 991 9T 0T I & S0 BB 3T Al il & 77 Fgd HH RN Tarare
377 IS IR T el Bi o ST FRe bl 98 &=t &l € |

ST 31 3T 3 e § Fefetiad § F o Wel € 2

(1) (A) 3R (R) I T € 3R (R), (A) F Fel T & |

(2) (A) 3R (R) =1 el & wifer (R), (A) ol Tel Tl T8l € |

(3) (A) T & 3R (R) T ¢ |

(4) (A) T ¢ IR (R) T& € |
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33.

34.

35.

36.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Periodization is used mostly in high performance training stage and
complete year is periodized, using multiple periodization for faster development of
performance.

Reason (R) : Multiple periodization should also be used for children as they can tolerate
highly specific and intensive training schedule.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : The training during direct preparation should have dual aim i.e. to achieve
top form along with the removal of deficiencies of the athlete.

Reason (R) : The training should be highly individualized and specific to the expected
competition conditions.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as
Reason (R) :

Assertion (A) : Stratified sample is drawn, when population is heterogeneous.

Reason (R) : As by estimating each component we get measure of whole population.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Independent variables are manipulated by the researcher to see their effect
on dependent variables.

Reason (R) : As they lead to the prediction of hypothesized extraneous variables.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.
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33.

34.

35.

36.

T 31 2t fRu Tu & T @ U B S (A) 3R S@ i a (R) FET TR

AMFET (A) FroTashasal H ST T So9 TSI WISTET0T TROT H gl € aul Tl 9y 6
FIeTashaGaT Bidl & T U o ot ¥ QU & g SHiorashegdl 1 SUaNT 5T ST & |

% (R) : Tdl & [o1 g SHioTashagdl S SUANT {ohaT ST & SRiiTeh of So fafere qem e ufemetor
HTISHT T T BT T ¢ |

SYIH 3T ST o Ty H Ffeiad J 9 o7 Tet € ?

(1) (A) 3R (R) IHT T&l € 31X (R), (A) 1 Fel TEIHT ¢ |

(2) (A) 3R (R) 2 &l &, wifer (R), (A) o &l Tl T8l € |

(3) (A)TEEAR(R) T E |

(4) (A) T g R (R) Wl ¢ |

T 77 At fRT T & T @ e B S (A) 3R 38 B a% (R) TR TR

AHAT (A) : T TAR & IR URTEI0T 3BT e 18 T e 3T =T BT B AT AT
3R TAIE i AT Sl X HET |

aF (R) ; TTTeTor Trqiiad Hfamet aRiefadt & 9ey | 37 SAfRd oI fafme g =ifEy |

SR S1 SRRl % Ay | o O & o ger ¥ ?

(1) (A) iR (R) I el & 3R (R), (A) 1 Tl TEIHT & |

(2) (A) 3R (R) = Tl &, e (R), (A) o Tel TLieol T8l € |

(3) (A) T ¢ 3R (R) Tt & |

(4) (A)TedE AR (R) T T |

T 77 St fRT T & T @ U B S (A) 3R 38 9% (R) FRT TR
ATTHAT (A) : ST STHEEAT FRTTSA Bl &, a TR Hfaaa a6 S & |
A% (R) : T T STaFd N 3MHe HY &F U1 SHGEAT T 19 ST Tl © |
U 31 AT 3 e § Fefetiad § F o el € 2

(1) (A) X (R) IF el & 3R (R), (A) 1 TET T & |

(2) (A) R (R) 3 &l &, A (R), (A) T &l TR0 T8l € |

(3) (A)TEEAR(R) T & |

(4) (A) 7o g R (R) Wl ¢ |

T 31 2t fRu T & T @ Uk S S (A) 3R S@ i a% (R) FET TR

AHHUT (A) : IMeHAT & FRT Wi I H HREgel Wl o I 3ok TTe 3l S8 o fordl fefam rem
T

T (R) : i 799 aRehicqd oTer <RI o1 Qe 8im € |

ST 31 3T 3 e § Fefetiad § F o Wel € 2

(1) (A) R (R) IF el & 3R (R), (A) FT TEl T & |

(2) (A) R (R) 3 &l &, w1 (R), (A) T &l TR0 T8l € |

(3) (A)TEEAR(R) T & |

(4) (A) 7o g R (R) Wl ¢ |
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37.

38.

39.

40.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Formative evaluation of Instructional programme is not so imperative to
be in line with the pre decided objectives.

Reason (R) : The outcome of the formative evaluation is received during the course of
instructional programme.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : The standard error of measurement reflects the degree to which a
subject’s observed score fluctuates as a result of errors in measurement.

Reason (R) : This standard error of measurement is similar to standard error of sample.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Original instinctive behaviour can be modified to socially accepted form
of behaviour through education.

Reason (R) : Adolescent Boys and Girls can learn to regard each other in a co-educational
learning programme.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as
Reason (R) :

Assertion (A) : Management is the dynamic life giving element in every organization.
Reason (R) : It is the activating force that gets things done through people.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

Paper-111 16 J-47-16



37.

38.

30.

40.

T 31 2t fRu Tu & T @ U B S (A) 3R S@ i a (R) FET TR
AT (A) : TSI HIEsA T TR0 GoaishT qafoiia S29al i aRg e T&i ¢ |
A% (R) : FHOIE GoaishT o1 TR SR HEshe & Te § U 8T € |

S 3 ST 3 Gee H e o & o g ¥ 2

(1) (A) iR (R) I el & 3R (R), (A) 1 Tl TEHT & |

(2) (A) 3R (R) 3 Tl &, Al (R), (A) T el WL T8l € |

(3) (A) T & 3R (R) Told ¢ |

(4) (A) T ¢ IR (R) T& € |

T 31 et fRu T & T @ Uk S S (A) 3R S@ i a% (R) FET TR

ATHAT (A) : T T THS I Tostae & Wdich § HHT Jieg bl AET I U € S A0 8§ Jfe &5
TROTHEEY ST § |

A% (R) : I i A Jie U= & T I THE ¢ |

TG T SR o T § Frefeiiad | 9 o 9@t € 2

(1) (A) 3R (R) I T € 3R (R), (A) F Tel TEHT & |

(2) (A) X (R) IF Tl &, Al (R), (A) T el TLIHT el & |

(3) (A) T & 3R (R) T T |

(4) (A) T € IR (R) W& |

T 71 St fRu T & TS @ ek B S (A) 3R 38 B a% (R) TR TR

AfHFHUT (A) : 18T o AT ¥ ol WesT FIeR i HISTh T F Wi FeR % &9 H SNt
fepam ST T & 1

A% (R) : ThIT oTgeh 3R Aieiohal Te-foreT 1y sishy § Ueh-gay bl 3TIST ST 9ig ekl & |

ST 31 AT % e § FEfeiad o § o el € 2

(1) (A) 3R (R) I T € 3 (R), (A) F Fel T & |

(2) (A) 3R (R) I Tl &, Al (R), (A) T el WL el € |

(3) (A) T & 3R (R) Tl ¢ |

(4) (A Te ¢ IR (R) T& € |

T 31 et fRu U & T @ Uk B S (A) 3R S i a% (R) FET TR
AHHUT (A) : T TS WA | AT SIS 7w ¢ |

% (R) : 78 I 51 & S AT § 1 I ¢ |

S &1 SRR % HeW | FfeiiEa W W o el € ?

(1) (A) 3R (R) I T € 3 (R), (A) F Fel TEHT & |

(2) (A) 3R (R) I Tl &, Al (R), (A) T el WL T8l € |

(3) (A) T & 3R (R) Told ¢ |

(4) (A Te ¢ IR (R) T& € |
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41.

42.

43.

44,

45.

Arrange the objectives of cognitive domain in a sequence from lower to higher order.

(@ Comprehension (b) Knowledge

(c) Analysis (d) Application

Codes :

1) (b), (a). (d), (c) (2 (c), (b), (a). (d)

3) (@), (b), (c). (d) (4)  (b), (c), (a), (d)

Which one is correct sequence leading to muscle contraction ?

(@ Acetyl cholin released (b) Nerve impulse generated
(c) Actomyosin complex (d) Calcium saturates troponin
(e) Action potential developed

Codes :

(1) (b), (a). (d), (), (e) (2 (b), (e). (a), (d), (c)

3) (e), (b). (@), (d), (c) 4) (a), (b), (e), (), (d)

Followings are the movements of body parts during high jumping. Arrange the
movements in sequential order

(@ Knee flexion followed by extension.

(b)  Trunk flexion.

(c) Planter flexion in ankle.

(d) Hip extension followed by flexion.

(e) Shoulder hyper-extension.

Codes :
(1) (), (b), (a), (d), (e) (2) (a), (c), (b), (d), (e)
(3) (b), (a),(c), (e), (d) 4) (c), (), (d), (b), (e)

Find the correct sequence among essential elements of flow as described by Weinberg.
(@ Complete absorption in the activity.

(b) Effortless movement.

(c) Merging of action and awareness.

(d) No goals or rewards external to the activity.

Codes :
(1) (@), (b), (c), (d) (2) (a), (c), (d), (b)
(3) (@), (d), (b), (c) 4) (b), (c), (d), (a)

One of the major goal of physical education is physical fitness. The step by step approach
to physical fitness is

(@) Performing physical activity and exercise.

(b) Self assessment and self planning of fitness and physical activity.

(c) Learning of physical activity.

(d) Life time involvement in physical activity.

Codes :
1) (@), (c), (d), (b) 2) (c), (), (b), (d)
(3) (b), (c), (a), (d) 4) (a), (b), (c), (d)
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41.

42.

43.

44,

45.

HFTCH &5 o 3291 ol 77T | 3= o ohH H e shitord)

() @& (b) ==

(c) foretoor (d) ewpmim

FE

D) (b), (@), (d), (c) 2) (c), (), (a), (d)

3 (@), (), (c), (d) 4) (b), (c), (a), (d)

Tttt o @ i Ui Tepe i 5T €M o1 et o € ?

(a) ufafeer Fief M € | (b) iRt 3Tk Qi Bl & |
(c) ufgemERT Frced (d) ez S i FIw e € |
(e) Tomam svwer fareparet

FE

(1) (b), (@), (@), (c), (e) (2) (b), (e), (a), (d), (c)

3 (e), (), (a), (d), (c) 4) (), (), (e), (), (d)

S P (BTE SET) o IR YRR o 3 o oo A 7 T € | T Goer B Gel 3ThA o
AT I

(a) ToRAROT & AF g W 3G

(b) & T SH

(c) <& H URAd 3Thad

(d)  3MPHeA & a1F o faredror

(€) WY Al e

?‘:

(1) (), (b), (@), (d), (&) (2) (@), (c), (b), (d), (e)
(3) (b), (a), (c), (e), (d) (4) (c), (a), (d), (b), (e)

TR FRT ST o o TP el o el 559 Pl T Y :
(a) FHRIHAT H gl Forien

(b) THEF HooH

(c) T 3R STREhHAT i foer

(d) RIS | SR S e AT [EHR el

FE !
(1) (@), (b), (c), (d) (2) (), (c). (d), (b)
3) (@), (d), (0 (c) (4)  (b), (c). (d). (a)

IIRINER ToTeT T Ueh T ofed TIRIRE: QeToel & | YRIRe WeTl Sl =RUT-8Y-=R0T UM & |
(a) VNI FEHAT SR AT BT |

(b)  TETEAT 3R IR HREFHATT S W3THAT 3T IS AT

(c) NI FREIEHAT TS

(d) IRIGR ThaTehetTT | STeH-Td=T Sor-ar

FE !
(1) (@) (c), (d), (b) (2)  (c). (a), (b), (d)
@3) (b). (c). (a). (d) (4) (), (b), (c), (d)
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46.

47.

48.

49.

Distribution of % of total calorie for an adult in the diet planning for breakfast, lunch,
snacks and dinner be arranged in a sequential order from morning to night.

@ 10% (b) 30%

() 20% (d) 40%

Codes :

(1) (@), (d), (c), (b) (2) (b), (c), (d), (a)
(3) (c), (b), (a), (d) 4) (d), (b), (a), (c)

Find out the right sequence of testing a hypothesis from the codes given below :
(@) Selection of sample and computing appropriate value from sample data.
(b) Making a formal statement regarding the assumption.

(c) Calculation of probability.

(d) Selecting an appropriate level of significance.

() Comparing the probability.

Codes :
(1) (b), (a), (d), (c), (e) (2) (c), (d), (b), (a), (e)
(3) (b), (d), (), (c), (e) 4) (a), (b), (c), (d), (e)

Mc Dougall and Wenger (1991) stated following procedures in a sequential order for
testing to be more effective.

(@) Select reliable and valid test.

(b) Control test administration rigidly.

(¢) Include variables relevant to sport.

(d) Develop sport specific test protocols.

(e) Repeat the testing periodically.

(F)  Interpret the results to both the coach and the athlete directly.

(g) Maintain the athlete right to self respect.

Codes :

(1) (c), (d), (@), (e), (). (b), (9) (2) (), (c), (b), (e), (d), (), (9)
(3) (c), (a), (d), (b), (9). (&), () (4)  (9), (@), (c), (b), (e), (d), ()

Objectives of Management are implemented in an organisation by stages, one such stage
action planning includes.

Find the correct sequence from the codes given below :

(@ Choosing strategies appropriate to the objectives.

(b)  Scheduling specific activities to achieve maximum resource utilization.
(c) Allocating resources for achieving objectives.

(d) Assigning responsibilities for achieving objectives.

Codes :
1) (@), (c), (d), (b) (2) (), (d), (c), (b)
(3) (b), (@), (c), (d) 4) (d), (c), (), (b)
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46. YT, JUET H HISH, IR 3R A G5 & T TR Faee 3 fodt % & ot o1 oAkt &
TTTTe =0T 31 qae | W1 o 569 | Faredd L |

@ 10% (b) 30%

©) 20% d) 40%

A

(1) (@), (), (c), (b) (2) (b), (c), (d), (a)
(3) (c), (b), (a), (d) (4) (d), (b), (a), (c)

47. i U T Fel W IR S ST o Gl ShH T Ol TR
(a) T 1 T 3T T 3iihe © Stad A i MUFET HEAT |
(b) TG % IR H U SR TR ST |
(C) TS Sl TUAT |
(d) arear o 3fed W H T2
(e) T ol For T

FE !
1) (b), (a), (d). (c), (e) (2) (c), (d). (b). (a), (e)
3) (b), (d), (a). (c). (e) (4) (@), (b). (c), (d), (e)

48. T GTCT qAT SR (1991) = URIRIUT i STk Tt S % fordt Fefoiiad we SRy § FHefetad
TTSRATSTT SRl ST T
(a) Tovaga ud fafawm=r adietor 1 =95 T |
(b)  TRIETOT FRIE i gl © Rt e |
() T HaH T IMHA BT |
(d) = fafere TieTr Hieishict TR T |
(e) TRIETUT T 3TETeE T T eI |
(f)  ufererer T fEeTTe! St Tt T § UROTHT 3t S T |
(9) FacTEr & ST & SIhR Bl T T |
FE
(1) (), (d), (@), (&), (). (b), (9) (2) (@), (c), (b), (e), (d), (), (9)
) (c), (a), (d), (b), (9). (&), () 4)  (9), (@), (c), (b), (&), (d), ()

49. T e U STV BT HEEE =0T T AT ST €, UHT Ueh =ROT S19 1 AT § et &
e 2 T e § TR A A TEwH Hi
(a) T & STTET T FHRHAT B =TI FAT |
(b)  3TeehaT TATEH AN W & fafeTe SR o T |
(C) 32Tl Wt Wt o THTEH STeifed e |
(d) 29T Wi = TSR FHord e |
YA
(1) (@), (c), (d), (b) (2) (a), (d), (c), (b)
3 (), (@), (c), (d) (4) (d), (c), (a), (b)
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50.

51.

52.

Match the terms of List — | with that of List — Il select the correct option using the codes
given below :

List—1 List— 11
(@ Idealism () Individual experience determine what is true.
(b) Realism (if)  Individual learns the truth through experiences.

(c) Pragmatism
(d) Existentialism

(iii) Science reveals the truth.
(iv) Truth and values are absolute and universally shared.

Codes :

(a) (b) (©) (d)
@ (i) (i) (iv)
2 (v) (i) (i) ()
3 (i) () (iv) (i)
@ (i) (iv) () (i)

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

(@)
(b)
(©)

List— 1|
Johann Bernhand Basedow
Friedrich Ludwig John
Per Henrik Ling
Johann Christoph Friedrich

List—11
(1)  Founder of modern gymnastics in Germany
(i) Medical educational and aesthetic gymnastics
(iii) Turnverein movement
(iv) Naturalism based gymnastic programme

(d)

Guths Muths
Codes :

(a) (b) (©) (d)
@ @ (iii) (i) (iv)
(2 (i) (iv) () (iii)
3 (i) () (iv) (ii)
@ (v) (i) (i) ()

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(@ Endowment (i) Acclematization
(b) Endurance (i) T.C.A.Cycle
(c) Environment (iii) Stature

(d) Energy (iv) VO,max
Codes :
() (b) () (d)
1 Gv) (i) (i) (ii)
(2 i)y (v) (i) (i)
@) (i) (i) (iv) (i)
(4) (i) (iv) (i) (ii)
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50. gHEl — | % U&T B G - || ¥ GRS B 3R A KT T el T Tl fahed 95T h

=t - | Tt - 1
(a) ome¥a (i) R SYE g8 MR T ¢ T g € |
(b) TETETE (i) = o 9a § 9T e |
(c) uRomHerE (i) oI 9 B v FAT R |
d) sfcea  (iv) T 3R gog FRueT g & a s O 3T o 9eiey gt € |
YA
(a) (b) (©) (d)
@ 0 i)y (i) (v)
2 (v) (i) (i) (i)
@) (i) (i) (iv) (i)
4 (i) (iv) (i) (i)
51. - | % U1 S GEr — |1 | A L 3R A 9T T w2 F Wl foshed w1 =91
= - | =it - 1
(a) S see S (i) ST H Sy s (eies) & G
(b) heRe oefon Sim (i) Tofhed=, Vet qen @igd fawees =mm
(c) W AR form (iii) AR 3tigem
(d) STier Theeiw el I q2@  (iv) THidaTs S S
T4
(a) (b) (©) (d)
@ 0 (i) @) (iv)
2 () (iv) (i) (iii)
3 (i) (i) (iv) (i)
@ (v) (i) (i) (i)
52. R — | & TR W gE — || § gEfe H 3K A KU T 5ol § w8 ot e o
= - | =t - 1
(@) =R (i) wEFeH
(b) WeTwitem (i) AT =H
(c) waeRor (i) %
d) =T (iv) VO, 7%
T4
(a) (b) (©) (d)
1 @Gv) (i) (i) (i)
(2 i)y  (v) (i) (i)
@ (i) (i) (iv) (i)
4 (i) (iv) (i) (i)
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53.

54.

55.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List— 1 List— 11
(Classification of banned drugs) (Example)
(@) Psychomotor stimulant (1)  Morphine

(if) Stanzalol
(iii)) Amphetamine
(iv) Ephidrine

(b) Sympathomimetic amines
(c) Narcotic Analgesics
(d) Anabolic steroid

Codes :

(a) (b) (c) (d)
@ @v) (i) () (i)
(2) (i) (iv) (1 (i)
3 (i) (i) (iv) ()
4 (i) (N (i) (iv)

Match the terms of List — | with that of List — Il and select the correct option using the

codes given below :
List—1 List— 11

(@ Kyphosis (i) Lateral curvature of the spine

(b) Lordosis (i)  Arch of sole of feet diminished

(c) Scoliosis (iii) Abnormal backward curvature of the thoracic region of

the spine
(d) Flat feet (iv) Aggravated lower curvature of the lumber spine

Codes :
(a) (b) (c) (d)

@ v ) (i) (i)
2 @iy i) o (v) ()
@ (v (@) () (i)
@ (i) (v) () (i)

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(Movement) (Muscle)
(@ Flexion (i)  Pronator Teres
(b) Extension (i) Trapezius
(c) Pronation (iii) Flexor Carpiradialis
(d) Downward rotation (iv) Triceps brachie
Codes :
() (b) () (d)
@ (av) i)y (i) (i)
2 (i) (iv) (i) (i)
@) (v) (i) (i) (i)
4 @) (i) (i) (iv)
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53. G- | % UsT & gl — || § FAfTT Y 3R A ST T i § Tt foshed 1 waT

=t - |

= - 1

(Tt @raeht HT ariHoT) (3TTE)
AEHMIER ZHeAS (i) wwE
famentomfes T (ii) TSt
ATehTeeh TATCTSI R (i) wEReHTE

(@)
(b)
(©
(d)
T

(1)
)
(3)
(4)

(a)
(b)
(©)
(d)
H
1)
(2)
(3)
(4)

(@)
(b)
(©)
(d)
E
1)
)
3)

TN RAUTS (iv) uftRlgT
(a) (b) (©) (d)
(iv) (iii) () (i)
(i) (iv) M (i)
(i) (iii) (iv) ()
(i) M (i) (iv)
54. et - | % URT B Gl - || ¥ AT Y SR A U T Fel 9 W foehed T
=it - | =it - 1
FHARITTT (i) TEES i TISash Sshell
ireifaa (i) T A % T =
whictenfad (i) T<S % &l &3 B qverHT Sshdr
e W (iv) TR H%S i ated Fe ashan
(a) (b) (©) (d)
(iv) (i) (i) (iii)
(iii) (i) (iv) ()
(iv) (iii) (i) (i)
(iii) (iv) (1) (i)
55. gl — | % UsT & gall — || § GRS Y SR A ST T i § Tl foehed 1 oo &
= - | = - 1
(Fe) (areht)
3 (i) W™
TR (i) <ufsTerm
ELICOE] (iii) TFIRR FTRIgT
G U (iv) I S
(a) (b) (©) (d)
(iv) (iii) (i) ()
(iii) (iv) Q) (i)
(iv) (1) (iii) (i)
(iii) (i) Q) (iv)

(4)
J-47-16
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56.

S7.

58.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List—1 List—11
(@) Progressive Relaxation (i) Jacobson, E.
(b) Autogenic Methods (i) Epstein, M.L.
(c) Behavioural Rehearsal Training (iii) Schultz, J.
(d) Mental Imagery (iv) Suinn, R.M.

Codes :

(a) (b) (c) (d)
1) @iy (iv) (i) (1
2) (v (i) () (iii)
3 (i) () (i) (iv)
YR () (i) (iv) (i)

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List—1 List—11
(@ Mental training (i)  Nideffer, R.M.
(b) State-Trait Anxiety (i) Spielberger, C.D.
() Mental Strategies (iii) Weiner, B

(d) Attribution theory of Motivation and Emotion  (iv) Orlick, T
Codes :
() (b) (©) (d)
OV (i)  (iv) (i)
2 (@) (i) (i) (iv)
@) (i) (v) (i) (i)
4 (v) (i) (i) (i)

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :
List—1 List— 11
(@ Instrumental instruction (i) Process of arranging material to be learned
into a series of sequential steps.

(b) Programmed learning (i)  Amount of time spent to learn successfully
activity based on objectives of lesson.
(c) Active learning period (iii) Type of learning which indicates what to do

to bring habit formation.

(d) Programmed instruction  (iv) Learner oriented system of self education
with teaching tools.

Codes :

(a) (b) (c) (d)

@ 0 i)y (i) (i)

(2 (i) (i) (iv) (i)

@ (v) (i) (i) (ii)

@4 (i) (v) (i) (i)
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56.

57.

58.

T — | 3 T - 1 e i S T e & e e e

e - | = - 1
(a) shToes Tt (i) S, €.
(b) oI faty (i) TS, TH.UA.
(C) TIER ganarg ufeteror (i) Yoo, .
(d) =R fqwmEet (iv) &, AR,
FT
(a) (b) (c) (d)
@ (i) (iv) (i) ()
2 (iv) (i) () (iii)
@ (i) () (i) (iv)
@ O (i) (iv) (ii)
T — | % U= B Gt — |1 | GAferd L 3 A 5T M0 2t T Tl fasheq 1 oa= #
= - | = - 1
(a) WM UreTeToT (i) Few, smwun.
(b) Wz TRl (i) e, 2,
(c) wmfEe FEA (iii) R,
(d) IR TS W & ORI fagT (iv)  eTfer, 2.
T
(a) (b) (c) (d)
@ @ (i) (iv) (i)
(2 (i) (iii) () (iv)
@ (i)  (iv) (i) ()
@ (v () (iii) (i)
T — | % 7eT &1 G — || § AR Y SR A T 0 et | WY faehen 9w e
=it - | =t - 1
(a) WUl IFRY (i) M fT STH arer Gl S hH® =)oT H
et § SAaeId - i uishar
(b) ST st (i) 9 % I/ W TUIRG  FEAGAT Bl
GHeATYd T - § 2l 90 |

(c) Hfsha FaifTa sty

(d) Frafem srgeer
FE !
@ (b (©
@ 0 (i) (i)
2 (i) ON (Y
@ v (i) ()
4 @iy  (v) (i)
J-47-16

(iii) AT 1 YR S FE A & T g faeniaa
F o [T T TR ST |

(iv) Toreror At & Oy w@-foretor Bt St 3Ry
JOTTeAT

(d)
(iv)
(iii)
(if)
(i)
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59.

60.

61.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :
List— 1 List—11
(@) Reflective teaching (i) Interpersonal influence to change the behavioural
potential of a person.

(b) Authoritarian (i) Intelligently influence and support thoughts
teaching assumption and beliefs to bring a behavioural change.

(c) Democratic teaching (iii) Laissez fair approach.

(d) Indoctrination (iv) An intimate contact between more mature and less

mature to further the education of later.
Codes :
(a) (b) (c) (d)
1) @iy (iv) (1 (i)
2 () (i) (i) (iv)
3 (i) () (iv) (i)
@ (v) (i) (i) ()

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List—1 List—11
(@) Parasitic agents (i)  Physical hazard
(b) Vibration (i) Biological hazard
(c) Inhalation (iii) Psychological hazard
(d) Lack of Job satisfaction (iv) Chemical hazard

Codes :

(a) (b) (c) (d)
1 i)y (iv) () (i)
2)  (v) (i) (i) (1
3 (i) () (iv) (i)
YR () (i) (i) (iv)

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(@) Early childhood (i)  Achievement of maximal stride frequency
(b) Late childhood (i)  Second physical metamorphosis
(¢) Middle childhood  (iii) Strong following of role model
(d) Pubescence (iv) First physical metamorphosis

Codes :

(a) (b) (c) (d)
1) (i) (1 (iv) (i)
(2 (iv) (i) () (i)
(3) (i) (i) (iv) (1
@ (0 (iv) (i) (i)
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59.

60.

61.

T -

(@)
(b)

(©)
(d)

%< .

(=N

(1)
(2)
(3)
(4)

T -

(@)
(b)
(©)

(=N

(1)
(2)
(3)
(4)

T -

(@)
(b)
(©)

(=N

(1)
(2)
(3)
(4)

J-47-16

(d)

A

(d)

A

| 3 T e — |1 ¥ R S A R T et e e o e

=it - | =it - 1
PRCREANE ) (i) Trdt = & TJRRTd TET § uReaad & forg
ST TS
MfuehraTst o (i) SERRTd uRed o % foe e, et SR st
T TR T T AT S FHE HIAT |
Al foTeqor (iii) 3TETaRT IUTTH
ToteqT 3 (iv) SoTeT uRuee SR %H URued %S9 e qH dif HH
U St 1T i 3T ST ST 9o |
(a) (b) (©) (d)
(iii) (iv) () (i)
(i) (i) (i) (iv)
(i) M (iv) (i)
(iv) (iii) (i) ()
| o T=i =l g — || § Fafer s i = 5T 7T et @ W fehed i wE o
= - | = - 1
TR 31Tl (i) ifas @
HE (ii) ST Sfes TerT
KIEIRERE (iii) TR TeRT
FE Gqfte & o d (iv)  TEEEE @
(a) (b) (c) (d)
(iii) (iv) () (i)
(iv) (iii) (i) (i)
(i) M (iv) (i)
(i) (ii) (i) (iv)
| o T=i =l g — || § FAfer s i =i 5T 7T et @ W ferehed i e o
= - | = - 11
R e (1) SAehdd HeH SEIRAT i Wi
g areaEen (i) g YRR srEaReT
e e (iii) feT AST I g A
RICEIre (iv) Ve TR ST
(a) (b) (c) (d)
(i) () (iv) (iii)
(iv) (iii) (i) (i)
(i) (i) (iv) M
(i) (iv) (i) (i)
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62. Match the terms of List — I with that of List — Il select the correct option using the codes

given below :
List—1
(@ Maximal resistance method
(b) Sensory method
(c) Circuit training method
(d) continuous method
Codes :
() (b) ©) (d)
1 (v) (i) (i) (iii)
2 @)  (v) (i) (i)
@) (i) (i) (i) (i)
@ () (i) (v) (i)

63. Match items of List — | with that of List — Il and select the correct option using the codes

given below :
List—1
(@) Coefficient of variation
(b) Standard deviation
(c) Mean deviation

(d)

Quiartile deviation

Codes :

(1)
()
(3)
(4)

Paper-I111

@ (® (©
()R OB ()
(v) i)y ()
i) G (iv)
i @ W

(i)

(i)

(iii)

(iv)

(v)

(d)
(iii)
V)
(i)
(i)

List—11
(i) Development of reaction ability
(i) Development of strength endurance
(iii) Development of Muscle hypertrophy
(iv) Development of aerobic capacity

List— 11
Square root of the average of the squared
deviation measured from mean.

Absolute measure of dispersion around
median.

Variation of the distribution adjusted with
mean in percentage.

Average of the absolute deviation of scores
from a measure of central tendency.

Under root of the squared value of maximum
variance from mean.
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62. T — | % UST & gl — || T GAFT Y SR - ST T F2f ¥ Tl foehed 1 =27 &

= - | = - 1
(a) ofuehaw uferrg fafr (i) wfcfskan erman 6t foeer
(b) HE faty (i) ¥R TETeteran ot forehr
(c) e wiereyor fafyr (iii) AT o st foshra
(d) Feem fafy (iv) wiferes ereren ot e

%< .

@ (0 © (@
@ av) (i) @) (i)
@ @)  (v) (i) ()
@ (i) () (i) ()
@ @ (i) (v) (i)

63. el — | % USRI B GEl — |1  GAfETT L 3 A KT HT FHei ¥ Tt faheq 1 ==
= - | = - 1

(@) WHPRE (i) WA Y AY T G i [aaemi & SiEd 6 agd

(b) UFE fage (i) HIRET % U WehIU T e A

(€) wrafmem (i) wiow § e ¥ el e & o

(d) =g foae  (iv) FEIF T % AT § it & ST foraer i S
(v) T AR SR & aid God i 3T T

@ (0 © (@

@ (i) @) (v) (i)

2 (v) (@) () (v)

@ i) @ Ov) (i)

@) (i) () v) (i)
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64.

65.

66.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List— 1 List— 11
(@ Mc Donald test (i) Volley ball
(b) Dyer test (ii) Basket ball
(c) Schmithal-French Field skill test  (iii) Football
(d) Brady’s test (iv) Hockey
(v) Tennis

(vi) Badminton
Codes :
(a) (b) (c) (d)
@ Giy v (iv) (i)
(2 (i) (i) (iv) (i)
(€)Y (i) (vi)  (iii)
@4 (i) (i) (i) (i)

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List— 1 List—11
(@) Economic Benefits of Sports (i)  Performance inspiring people
(b) Social Benefits of Sports (i)  Employment opportunity for people
(c) Political Benefits of Sports (iii) Reduction of crime
(d) Sports role models (iv) Issue of Human rights

Codes :

(a) (b) (©) (d)
@ (i) (iv) () (ii)
(2 () (i)  (iv) ()
@ O (i) (iv) (i)
@ (v) (i) () (ii)

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List—1 List— 11
(@) Personal Management Procedures (i) Disposal procedures
(b) Instructional Management Accounts  (ii) Audit and Accounts
(c) Financial Management (iii) Revision of Curriculum
(d) Material Management (iv) Conflict Resolution

Codes :

(a) (b) (c) (d)
@ Gv) (i) (i) ()
(2) (i) (i) () (iv)
3 (i) () (iv) (i)
@ @ (iv) (i) (i)
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64. T — | % UG B Gl — || T FAFTT Y 3R A KT T i § Tt foehed 1 =27 L

= - | = - 1
(a) TFSHIeE X (i) dfefare
(b) TR (i) am=he ate
(C) TR Hhivs fehet o (iii) FedeT
d) e = (iv) &t
(v) <&
(vi) seffea
T
(a) (b) (©) (d)
) (i) V) (iv) ()
(2) (i) () (iv) (i)
(C)I") () (vi) (i)
4 (i) (vi) (i) ()
65. T — | % UST B gl — || T GAFT Y 3R - ST T i ¥ Tl foehed 1 w27 &
=i - | = - 1
(a) T HT AP AT (i) T % UGS i WO I dTed ATk
(b) ©WAH AR AT (i) AT P o ASTIR 1 ST
() T N IHIE T (jii) TR o AT
(d) ot 1 gHH Ufaed (iv) HHETEER F fama
FHT
(a) (b) (©) (d)
@ i) (iv) () (i)
(2 (i) (i) (iv) ()
) ) (i) (iv) (i)
4 (v) (i) () (i)
66. T — | & TR B G — || § FGElT Y 3R A9 KT M0 Fo © T Fored T
= - | = - 1
(a) SAKETT Yowem ulshad (i) Tuem wfward
(b) TReTcHS Tom i@ (i) T et 3R En
(c) foxit™ yerem (iii) UTeTSHH T HIE
(d) T ST (iv) God gEmeE
HT
(a) (b) (©) (d)
@ Gv) (i) (i) ()
(2) (i) (i) () (iv)
@ (i) () (iv) (i)
YR () (iv) (i) (i)
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67.

68.

69.

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :

List— 1 List—11
(@) Standard score (i) 16.66Z+50
(b) Hull scale .. X=m
(i) “Sp
(c) Sigma scale (iii) 14.28 Z+50
(d) tscale (iv) 155Z+50
(v) 10Z+50

Codes :

(a) (b) (c) (d)
D W (i) (iv) ()
(2) (i) (iii) (1) V)
@k W (i) (i) (iv)
4 (i) (iii) () (iv)

Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List— 1 List—11
(@) Harward steptest (i) Posture
(b) JCR test (i) Endurance
(c) I10WA (iii) Cardio respiratory efficiency
(d) Cooper (iv) Explosive strength

Codes :

(a) (b) (c) (d)
1 (i) (iv) () (iii)
(2) (i) (iv) (i) ()
3 (i) (iv) () (i)
@ (i) (iii) (1 (iv)

Match the terms of List — I with that of List — Il and select the correct option using the
codes given below :
List—1 List— 11
(@ Walking & Playing Chess (i) Recreation programme for Adolescents.
(b) Organized group games (ii) Recreation programme for elderly population.
like Cricket, Football etc.
(c) Sledge Hockey, Golf etc. (iii) Recreation programme for children.
(d) Creative & Artistic (iv) Recreation programme for  physically
activities. differently abled.
Codes :
(a) (b) () (d)
RN () (i) (iv) (i)
@ () @iy (i) ()
@ (i) (i) (i) (iv)
4 (v) (i) (i) (i)
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67. -

(@)
(b)

(©)
(d)

T

(1)
)
(3)
(4)

68. E-

(@)
(b)
(©)

(=N

1)
(2)
(3)
(4)

69. -

(@)
(b)

(©)
(d)

%< .

(=N

)
)
©)
4)
J-47-16

(d)

T

| 3 et 3 T — 1| e S S e T e & e e e

= - | = - 1
a+h 3% (i)  16.66 Z + 50
T Thet .. X-m

(i) SD

e w=per (i) 14.28 Z + 50
Ek=7ol (iv) 15.5Z+50
(v) 10Z+50

@ (® (© (@
v @) (v @
i @i ®H W
(v) @) (i) (i)
@iy Gi) @) (@)

| o T=i =l g — || Q Gl s 3K = 5T 7T et @ G fahed o e o

e - | = - 1
FRATE WO wWiewr (i) e
ST 3T, Tt (ii) TETeHeR
3TE. 37 T W, (i) TEI-vITT TeFT
FR (iv) TowRies oI

@ (b © @
@ vy @) (i)
(i)  (v) (i) (i)
i)  (@v) () (ii)
@ iy @) (iv)

| % TR ol gt — |1 | GAferd L 3K A 5T 70 2t A Tl fasheq 1 oa- H

it - | =t - 1
ZETTT 3T SISt Tor (i) TR o for@r TS Srshd
fohohe, Feaiel <18 Well & Tifed (i)  FEoTI & ot RS HrEwd
qqe
TAST BTl Mo s, (iii) s=a % o TR Sk
GSHICHS T FHellcdsh Tararet — (iv) IR €9 § fasen safwar & o
TARSH HEHT

(a) (b) (©) (d)

(i) () (iv) (i)

(i) (iii) (i) (iv)

(iii) (i) Q) (iv)

(iv) (i) (i) M
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70. Match the terms of List — | with that of List — Il and select the correct option using the
codes given below :

List— 1 List— 11
(@ Goitre (i)  Vitamin B,, deficiency
(b) Kwashiorkor (i)  Thiamine deficiency
(c) Perinicious anaemia (iii) lodine deficiency
(d) Beriberi (iv) Protein deficiency

Codes:

(a) (b) (©) (d)
@ ) (i) (i) (iv)
2 (v) (i) (i) (i)
@ (i) (iv) (i) (i)
(4)  (iii) (i) (i) (i)

Read the passage and answer the questions :

Sport philosophy is the systematic and reflective study of the truth, meaning, and actions
of sport. Sport philosophers study the values connected with sport, examine the reltionship
between mind and body, and debate ethical dilemmas. They call upon us as physical education
professionals to critically reflect upon our beliefs and assumptions about sport and challenge us
to use our insight and knowledge for well-being of others. As sport philosophy becomes more
organised and more sophisticated, philosophers started to focus on the value of different types of
physical activity or the relationship of mind and body. They also encourage the use of logic and
analytical skills to address ethical issues and make use of the insight and knowledge to promote
positive change.

Philosophy helps us to understand the meaning of movement and involvement to the
participants.. The knowledge can help professionals make decisions and develop guidelines to
have more positive experience for those involved. Sport philosophy offers us a systematic,
reasoned approach to examine our beliefs, to explore the connections and relationship between
our personal values, to critically reflect on societal values and to align over actions according to
the goals and aims to be achieved.

One of the challenge facing physical education at present is eliminating disparities in
physical activity philosophy offers us guidance in addressing inequalities in physical activity
opportunities experienced by underserved populations. Philosophy invites us to think critically
about what we do, what we ought to do and how we can change to provide more inclusive,
equitable opportunities in sport for all people.

71. A systematic approach is adopted in sport philosophy to investigate
(1) Values of physical activity
(2) Types of physical activity
(3) Structure of physical activity
(4) Effect of participation in physical activity.
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70.

71.

T — | 3 T - 1| g i S T e S e e e

= - | = - 1
(@) TR (i) foeifte By, % =t
(b) TR (i) e
(c) =T TaRAeaar (iii) STEEE H HH

(d) SRR (iv) T @
%2

(=N

@ (0 © (@
@ ay Gy @ (v)
2 (v) (i) (i) (i)
@) Gy (v) () (i)
) (i) () (i) ()

IEIT H T 3 I B FW

TeT I WeAhs i Foars, 31 X HET H shieg 3R Fawa-eier 31eqa= € | et qnite
oAl | Golg qodl I 7T H &, ARCTsh 3R IR o S o Heell T 9Letor s § 3 AT
Tgfaremett o ag foemg sd € | 3 SRR foreT Usiert & €9 § §0d I 37U Y & 1o ToTehs o
IR | g AT gRone R AIretl WA S 9§ forai Y i) g gl 3 & i g
AT GRS T T T IYANT TEU Bl TelE o [T Y | Tl I SH-519 SA1_T Gifed 37
URER ST ST T & JRIhT o faf W o SN SHrREIshedl o Jodi a7 AR 3K IR &
Teel T A ST 3R Y fear € | AT gt o T & e o o 3R favetyunenss e
% YA B A MedTled A & 3 RIS TRedT i 9gmar 4 & g 3agfe 3 [
ST HA § |

TV & WIIRRT & Tao 3R Gorar & 37 % 99eH § Weg T § | M, UveRi &
foTa o i Fere i & fefu SomeT WehRTeHe S & fow feenfaser faspfaa &< & asg
HAT & | TT 3T &H ST UROTS GLET0T, TN AR Gooii & aie Garell o STaI0T, JrIieTeh
Aol R SIS &9 § e o 3R 0 6 ST 9ot o1edi 3T 32947 i Ushishd el &

T &5 Ush shyeg, Alichh Geehivl SUTe T & |

TITH H IR {9187 T AT 1 QT Y @ § 98 € YRING SEhedl § ST 6l 53
FHIAT | T TH afad ATt gRT 3TN [T ST & IRIRE HRIsheld STl § ST 1 THTE
F & [T g AT @ & | g9, &6 99 B €, g9 9 AT 96T AR R TR It
AT % TI0 GA-F3 STaE] | THERT T a0 IUeTed I & ol aRad= & T &, T80
I H AT S T F Tre- & o0 STHE T ¢ |

Tl 9 T e S & felT U shierg gfteshivT ST9=Tam ST & 2
(1) VRN FEFHAT & oI
(2) VRN FEHAT &F THR

(3) IR FEFHAT Ht T

(4) IR FEFAT H THIGRT B 71T
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72.

73.

74.

75.

Sport philosophy is study of

(@) Relationship of mind and body.

(b) Importance of participation in competitive sport.

(c) Play, work and sport.

(d) Meaning of movement and involvement of participation.

Codes :
(1) (b), (c) (2) (), (d)
3) (). (b) 4) (a),(d)

Sport philosophers use logic and analytical skills to find ethical issue. They are :
(@) Emphasising fun element in sport participation than winning for children.
(b)  Skill analysis to learn new skills.

(c) Participation in physical activity to develop beliefs and values.

(d) Learning mental skills

Codes :
(1) (b), (d) (2) (a),(d)
3 (@ () 4) (b),(c)

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Physical education, exercise science and sport need to eliminate
disparities in physical activity.

Reason (R) : Sport philosophy provides insight to bring about changes to have more
inclusive, equitable opportunities in sport for all.

In the context of the above two statements, which of the following statement is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labeled as

Reason (R) :

Assertion (A) : Philosophy of physical activity and sport helps us to understand the truth,
meaning and involvement of the participants.

Reason (R) : Sport philosophy emphasizes the physical and sport skills development to
the fullest potential of each individual.

In the context of the above two statements, which of the following statement is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.
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72. T I THHR ST T 2
(a) TSR 3R IR & Hae H
(b) wfaeTe TeTehs § AIERY %1 Hewd
(c) WoH, HE IR TTH

(d) ToeH #1313’ YITERT hl Yordr

FE !
1 (0. () 2 (c). (d)
3) (@) (b) 4 (@)

73. T IRIHE AT T2 1 Uq1 o & foTd @k 1Y faeeiouTenss shietel sl SUaT &id ¢ |
(8) o ToThs H Fedl & [oTT ST i STURT ST o el R &7 §ef 3 € |

(b) T HIA & AR & AT FreTeT forwermor
(c) RSt R Yot & faehrd o o0 RN HrEwemT o qrierRy
(d) TGS HIvTeT A

FE !
1) (). @) 2 (@), ()
3 @) 4 (). ()

74, 9 1 31 ST T € SHE § U T 31w (A) SR TE P a (R) HeT T E

iU (A) : IR orem, = faam iR @eTss il SRR HEwart § ST i 53
HH B THAE |

% (R) : T 9 Tt % foI0 Wet-53 | SI1&T FHIEST, THH T 3T HH % o gied
M & [T SFge SUeTey AT & |

UG §1 SATTHUAT % T § e § ¥ 9 T €2

(1) (A) 3R (R) T4 e € 3R (R), (A) T Tel TLEHT & |

(2) (A) 3R (R) AT el €, A (R), (A) T TEl TSIl & ¢ |

(3 (A)TTAR(R) T |

(4) (A)Te g IR (R) W& |

75. a3 3Afee U e § S | ue @l Aty (A) 3G i aw (R) R TS

Ao (A) : IRINE FREEHAT R ToAdhs S99 g6 ISR &l gears, 37 3 Toridr &l
T | HEE AT € |

qF (R) : Tl 39 Uedish AT o 3Gk JUT &THAT ek TRINGR 3T WA-hIvet & foehrd WX oet 3ot
g

SYIFT T ATFAT % T § Frefeiad § 5 W 2

(1) (A) 3R (R) IHT Tt & 31X (R), (A) FT Tel WL T |

(2) (A) 3R (R) IHT T &, BT (R), (A) T Tt TR FaT & |

(3) (AT T AR (R) T ¢ |

(4) (A)TTed & 3R (R) & € |
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